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Important Instructions
wEvarqut e

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.
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1.

3.

The mosquito repellent (coils, mats and
liquids) that we generally use in our homes

are :
(A) Pesticides
(B) Fertilizers
(C) Sedatives

(D) Insecticides

The nature of relationship between
condensation and evaporation is :

(A) They are the same

(B) They are opposite

(C) They are similar but not in all respects

(D) None of these

Medicine of a Quinine is provided by :
(A) Eucalyptus Plant

(B) Aconite Plant

(C) Cinchona Plant

(D) Money Plant

SLA-104
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Tes S WA et %A (FiEE, T eI
e Tgre) S fF &7 TR W TR R A
ST H A, R

(A) T

(B) Wwerassd

(C) wewtey

(D) safreared

TEA TR aTsdieRo & oite & 3d &t Wi
7
(A) F T E

(B) = famia €

(C) 3 TuM T, Afep1 Tt 7T | -7t
(D) T 9 *E &

FH T AT TAR TSI E
(A) AT e &

(B) el e |

(C) o= dren &

(D) = wie |
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4.

6.

7.

Which state of India is known as ‘Tiger

State’ ?

(A) Gujarat

(B) West Bengal
(C) Madhya Pradesh

(D) Assam

Maximum density of water is at :
(A) 4°C

(B) 0°C

(C) 100°C

(D) 272°C

Maximum amount of gas found in air is :
(A) Oxygen

(B) Carbon dioxide

(C) Hydrogen

(D) Nitrogen

A human body consists of number of bones :

(A) 205
(B) 206
(C) 207

(D) 208
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IRA & fohd T &l 'SR V' & W 9
A @E 2
(A) TR

(B) wf¥=m e
(C) 7= 7w

(D) =T8H

T T AR T ¥
(A) 4°C W

(B) 0°C W

(C) 100°C R

(D) 272°C W

ga & T Y At HE WE S €
(A) SRS

(B) FE SEHFES

(C) TESSH

(D) TEgIeH

T HIE YRR T &gl 1 Ee el &
(A) 205
(B) 206
(C) 207

(D) 208
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8.

10.

11.

How many muscles are there in a human
body ?

(A) 600

(B) 700

(C) 800

(D) 900

Air pollution is caused by :
(A) Insecticides

(B) Sewage

(C) Smoke

(D) Loudspeakers

Renewable source of energy is :
(A) Coal

(B) Petroleum

(C) Plants

(D) Uranium

Vermicomposting is done by :
(A) Fungus
(B) Bacteria
(C) Insects

(D) Earthworms
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AT IR | fohat Areafyrt o s § 2
(A) 600
(B) 700
(C) 800

(D) 900

TG FGHT HT FHROT T :
(A) HISTRH

(B) TSt

(C) ys

(D) g,

10. S AYT HA©

(A) hiFer
(B) TiferH
(C) d9

(D)

11. HY WIS TIR T S ¥

(A) ek BRI
(B) Sffamy 5/
(C) #IS 5/

(D) T EN
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12.

13.

14.

15.

The biochemical laboratory of human body
is:

(A) Intestine

(B) Stomach

(C) Liver

(D) Anus

During the summer the earth is :
(A) Closer to the Sun

(B) Away from the Sun

(C) Closer to the Moon

(D) Away from the Moon

Which of the following has greatest affinity

for haemoglobin ?
(A) CO

(B) Ammonia
©) O,

(D) CO,

The first nuclear disaster occurred in the

history of world on :
(A) August 6, 1945
(B) August9, 1945
(C) August 8, 1945

(D) April 26, 1986

SLA-104
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12.

13.

14.

15.

AT IR T - TR FERTIE ¢
(A) o=

(B) W

(C) =R (f5R)

(D) T

Tt & SRE gt § ¢
(A) I & e

B) ¥ AT

(C) == & e

(D) T Y

frfafeg § 9§ S gHrafed & fag
T ST SAH 2

(A) CO

(B) Tt

(©) 0,

(D) CO,

faea & sfiem # el TwATY] ATRT w4 B3
ot ?

(A) 6 FTE, 1945

(B) 9 31T, 1945

(C) 8 31T, 1945

(D) 26 3T, 1986
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16.

17.

18.

19.

The Young one of a frog is called :
(A) Young frogs

(B) Frog Cubs

(C) Larva

(D) Tadpole

Wildlife week is celebrated on :

(A) 1st October to 7th October
(B) 15th October to 21st October
(C) 1stJune to 7th June

(D) 15th June to 21st June

Group of Individuals of the same species that
share common attributes are called a :

(A) Community

(B) Population

(C) Ecotype

(D) Society

A tight whirlpool of wind formed in the

stratosphere which surrounds Antarctica is

called :

(A) Polar Stratosphere Cloud
(B) Polar Vortex

(C) Both (A) and (B)

(D) None of these
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e & T (FAT) 1 HT A8
(A) TR

(B) I hed

(C) @t

(D) U

TSI FTE AT STl §

(A) | SRR | 7 SRR T
(B) 15 TSR H 21 STHRGR T
(C) 1S9 7T

(D) 157 9 21 [

T & TR B SR e H A
(A) FH=TE

(B) SrEEA

(C) uitfeearfas grea

(D) |H1

TUATIHUSA ST 3TeTeh (<Rl o =R 3T 9 =R
7 7ifed ga & Weh G o) hl el ST R ¢

(A) Y& FHaHTEA & SR
(B) et =k

(©) (A) 3T (B) gHi

(D) =78 ¥ % &
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20.

21.

22,

If waste materials contaminate the source of
drinking water, which of the following disease
spread :

(A) Scurvy

(B) Typhoid

(C) Malaria

(D) Anaemia

Which of the following wastes cannot be
decomposed by bacteria to form compost ?
(A) Kitchen Wastes

(B) Plastic and Polythene bags

(C) Dead Plants

(D) Bodies of insects living in the soil

Which option correctly shows energy flow
in a food chain ?

(A) Plants — Insects — Salmon — Bear
(B) Insects — Plants — Bear — Salmon
(C) Bear — Salmon — Insects — Plants

(D) Salmon — Bear — Plants — Insects

SLA-104
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20.

21.

22,

STIfTSE U=l S YosTe & & g = I
1 e ¥
(A) EHRR
(B) <EHES
(C) Tt

(D) Tdreddn

FF 7= =R T F T H Sa] gR
fomfed 76 FX T T ?

(A) THE i

(B) i 3R Hiferefis s

(C) 7a e

(D) fiagt # & 9t HIS] o IR

e e | Sl Joe i Tl faehed © -
(A) IR — Hie — FEOHT — 9]
(B) ®IT — TRY — HIT] —> HIeHA
(C) 9] — FI T — Hic — IR
(D) |EHT —> 9] —> KT —> i<
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23.

24.

25.

26.

What is the animal symbol of WWF (World
Wildlife Fund) ?

(A) Kangaroo
(B) Tiger
(C) Lion

(D) Giant Panda

Red Data Book proves data :
(A) Red flowered plant

(B) Red colored animal

(C) Both (A) and (B)

(D) Endangered plants and animals

When is the world wildlife week ?
(A) First week of September

(B) Last week of September

(C) First week of October

(D) Last week of October

The most important human activity, leading
to the extinction of wildlife is :

(A) Pollution

(B) Hunting

(C) Destruction of habitat

(D) All of these
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T T UF. (TTE ARCSATE HUS)
Y] Telleh ©

(A) T

(B) =

(C) IR

(D) feremet wre1

et kel i T | SAHS T
(A) @A HEll Al Iy

(B) @& T ATt S

(C) (A) TR (B) T

(D) T T T g

TSI TS B &
(A) Taaw=r =1 9o g«ie

(B) faawr =1 sif<m wre
(C) TR 1 JoH T

(D) SRR 1 Af<H T<TE

FIStial i faqIf o1 Ted g RO § ¢
(A) g

(B) Rrwr

(C) marE =1 famm

(D) 3|t
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27.

28.

29.

Headquarters of United Nations

Environment Programme is located in :
(A) Greenland

(B) Nairobi

(C) Netherlands

(D) Rome

Which of the following is/are incorrect ?
(1) The Earth Summit was held in 1992 in
Rio de Janeiro

(i) Its most important outcome was

Agenda 21
(A) @
B) ()
(C) Both (A) and (B)

(D) None of these

Growing rice results in the release of
.............. in the atmosphere.

(A) Methane

(B) Carbon Dioxide

(C) Nitrous Oxide

(D) Sulphate Aerosol

SLA-104
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27. FAREE N TRIETHR Y Sl H&Ad

fem ¥ :

(A) TTeivs
(B) “Rrsit
(C) e
(D) ™

28. A H @ s ¥

() =19 |z 1992 # = < SafEn ° 8
ot

(i) U & Ry Toier 21 ol

A) @

B) (i)

(C) =i (A) T (B)

(D) =7 & i Tl

29. I TU A I FeRy | Feherd ¥

(A) oA

(B) e SEHIFIEE

(C) TEgH SRS

(D) TeHhe TIE
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30. The National Biodiversity Authority (N.B.A.)

31.

32.

is setup at :
(A) Delhi

(B) Chennai
(C) Kolkata

(D) Bangalore

Which organization is responsible for

maintaining Red Data Book ?
(A) IUCN
(B) CITES
(C) WWF

(D) IBWL

Which of the following is considered a
hotspot of biodiversity in India ?

(A) Aravalli Hills

(B) Western Ghats

(C) Indo-Gangetic plain

(D) Eastern Ghat

SLA-104
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30. T Safafasan wfkeer (N.B.A.) feera

31.

32.

T

(A) feoett §
(B) == H
(C) whicTeTal §
(D) SR H

HITAT ST AT SAHST HI [H B
TE-TEE % fo IwErt § 2

(A) I AT,

(B) Hr.em. i ua

(C) T TTLTF.

(D) oTE.31.T=. T

e & | S T 9RA St SAfafaean
Feee § ?

(A) SRIEC i qarfeat

(B) uf¥=Ht =

(C) Tary-7m & #gH

(D) it =
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33.

34.

3S.

If a person eats a vegetable, the person is
acting as :

(A) Primary Consumer

(B) Primary Producer

(C) Secondary Consumer

(D) All of these

One model that shows how energy passes

from organism to organisms called :
(A) An energy link

(B) A food chain

(C) A phytoplankton cycle

(D) Photosynthesis

When the population of organisms in an
ecosystem is in balance, we consider the
ecosystem to be :

(A) In succession

(B) Inequilibrium

(C) Is not balanced

(D) In endangered

SLA-104
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33.

34.

3S.

e T =fF gty @ 8, 9 9% SR
¥
(A) Tt IqERT

(B) wrafHe SRS

(O MiGIREASEE EN]

(D) = 9t

T S @ R e # e e e
e /S T :

(A) TF TS T

(B) @ st

(C) UIRY wEH

(D) TeRTST FECTIT

T et o # e F T gfen
T, O wiitfearfae) @ €
(A) STTRHT H
(B) gr=maEen §
(C) wgfera T
(D) qaI H
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36.

37.

38.

39.

Environmental pollution can be controlled
by :

(A) Checking atomic blast

(B) Manufacturing Electrical Vehicles

(C) Sewage Treatment

(D) All of these

Pampas Grassland is found in :
(A) North America

(B) Africa

(C) France

(D) Argentina

The atmospheric layer near the surface of
earth is :

(A) Troposphere

(B) Mesosphere

(C) Ionosphere

(D) Stratosphere

IUCN Headquarters is at :
(A) Gland, Switzerland
(B) Paris, France

(C) Vienna, Austria

(D) New York, USA

SLA-104
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TAEROT YT ! T o T weRar ©

(A) T foEhie i ThEt

(B) faea =it ame & 3caed §RT
(C) a1fed 7et IU=R §RI
(D) = 9t

T S TS I S ©
(A) S0 i |

(B) ST H

(C) W H

(D) STSfuerEaT |

got w1 e @ T FE aEEee
TR S S 2

(A) &rHvsd

(B) WEATUSH

(C) HHaTHvE

(D) AITHTSA

TUCN &1 &3 ¥ :

(A) Tois, faesreTe
(B) f®, wid

(C) feramm, sirfegan
(D) =T, LTET.
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40. Plants are green because of the presence of

41.

42.

43.

a pigment called :
(A) Oxygen
(B) Nitrogen
(C) Glucose
(D) Chlorophyll

Out of the following which is producer :

(A) Man
(B) Rat
(C) Green Plants

(D) All of these

Cement factory labourers are prone to :

(A) Leukemia
(B) Bone Marrow Disease
(C) Asbestosis

(D) Cytosilicosis

71% of Earth surface is covered with :
(A) Land

(B) Air

(C) Water

(D) Coal
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41.
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SUTeh TS R IEY R ¥, HEe ©
(A) STl
(B) oM
(C) TehIT
(D) FARITHA

o oo

feTferierd § 9 Scee © ¢

(A) 9
(B) ==
(C) R URT

(D) = 9t

= Hheadt o oG | AR Bt §
(A) TR

(B) = T T

(C) T=EIfad

(D) wrEfafaeRifay

71% yff Tag o e St ¢
(&) 4
(B) =g
(C)
(D) =
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44.

45.

46.

Edaphic factors are related to :
(A) Plants

(B) Water

(C) Soil

(D) Clouds

An organism which can monitor air
pollution ?

(A) Fungi

(B) Algae

(C) Bacteria

(D) Lichen

‘Eco Mark’ is given to those Indian products

which are :

(A) Pure and without adulteration
(B) Protein rich

(C) Friendly to environment

(D) Favourable to economy

SLA-104
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44.

45.

46.

Wfefirer wRew Trfed ¥
(A) T=H
(B) Tt
(©) 7

(D) =Ea

e & & I YEHsSa o1g GGl 1 geh
g2

(A) FaH

(B) Y@

(C) iy

(D) ¥

“geR! AT I WA Sl feam S §
S e -

(A) s o foemee Wea @

(B) W wqg ®

(C) wateRe & i Hige &

(D) Tfére gfie @ e &
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47. DDTis : 47. XA T .

(A) Greenhouse gas (A) Ter=ed 1|

(B) Non-degradable pollutant (B) H-TUHfed YgUh

(C) Degradable pollutant (C) sufed ygush

(D) None of these (D) T4 ¥ IS &

48. Ozone depletion in the stratosphere will 48, TITHER T SASH &0 § geait W

causc :

(A) == HER I o S

(A) Increased incidence of skin cancer ) )
(B) SWTST H 3TN &7 STt
(B) Forest fires

(C) Global warming (C) fova =1 A =g

(D) None of these (D) T8 § &S &

49. Ozone layer of upper atmosphere is being 49. IATEA H1 FHUL AT H ASE T & T

destroyed by :

(A) Sulphur dioxide
(B) Photochemical

(C) Chlorofluorocarbon

(D) Smog

SLA-104
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BH HTFROE
(A) HoH{ SRS

(B) e el
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50. Impact of Deforestation is :

S1.

52.

(A) Depletion of Soil and uncontrolled
flood

(B) Reduction in temperature
(C) Increase in rainfall and humidity

(D) None of these

Which of the following is the largest desert

in the world ?

(A) Iranian desert
(B) Thar desert
(C) Sahara desert

(D) Australian desert

Indira Gandhi Nahar Pariyojana (IGNP) has
provided water in Rajasthan but also

caused :

(A) Waterlogging

(B) Salinity in soil

(C) Mosquitos and Malaria

(D) All of these

SLA-104
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50. o HeE 1 G&T TG T ¢

S1.

52.

(A) &1 1 &R0 iR it o

(B) AMHM H firmae
(C) TS iR a1 =g
(D) T ¥ *E &

o oo

eferied § 9 sd I fave 1 god

a1 A § ?

(A) T AT

(B) oRIF™H

(C) wer ™

(D) siefern = A

3= e TR aRESH | TSR | S
SeTeY g & W T wEen of s
FROR

(A) T

(B) o<1 H 0wl

(C) ==X o "l

(D) = 9t
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53.

54.

SS.

56.

Which of the following is source of Air

Pollution ?

(A) Milk Dairy
(B) Distillery
(C) Bakery

(D) Cement Industry

Blue Baby Syndrome is caused due to :
(A) High Fluoride in water

(B) High Chloride in water

(C) High Magnesium in water

(D) High Nitrate in water

Full form of E-T.F. is :

(A) Economic Task Force

(B) Ecological Task Force

(C) Environmental Total Failure

(D) None of these

Which of the following is an abiotic factor

of Environment ?
(A) Plants
(B) Temperature
(C) Birds
(D) Man

SLA-104
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53.

54.

SS.

56.

frefafem # 9 HFE 91 Ygu &1 &
g2

(A) ¥ =l ST

(B) fefeatt

(C) a3t

(D) HHUZ S HREMT

= St FagM & HRU T

(A) It H FARTEE 1 SAfeRar
(B) T ¥ FARIES T SAFRrRar
(C) It H A it stfersman
(D) O H gL i SAfeman

E.T.F. % Bl ®H ¥ :
(A) Economic Task Force
(B) Ecological Task Force

(C) Environmental Total Failure

(D) 374 9 FIE &

frfafed o 9 i Taie)ol o1 Uk ofsifas
FF T ?

(A) =T

B) T

(C) fafea

(D) HAa
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57. Floods and droughts are related to : 57. ¢ TS @ THEIfd ©

(A) Nitrogen cycle (A) TTEISH = 9
(B) Phosphorus cycle (B) HIThHRE = 9
(C) Sulphur cycle (C) 9w =k |
(D) Water cycle (D) a1 =% 9
58. FEXx situ conservation of biodiveristy means : 58. SEfafaemar & 'Q?:R?—'H"]E; TIEIOT T AL T
(A) Conservation in man-made habitat (A) |Ma 51T ffa sTrardl § Teem
(B) Conservation in natural habitat (B) WIhfder STETHl | W&
(C) Both (A) and (B) (C) 3H (A) T (B)
(D) None of these (D) T8 9 g el

59. Name of the bird which migrates from 59. 39 fafean 1 94 S wgeiEn § wRaqe ga™

Siberia to Bharatpur is : HIA T

(A) Indian Pigeon (A) 3UEad FHgd
(B) Siberian Kiwi (B) @rEafEd et
(C) Siberian Crane (C) wrEeifed 9=
(D) None of these (D) T ¥ IS &

SLA-104 (19) BI-4 P.T.O.



60.

61.

62.

Soap and detergent are the source of organic

pollutants like :

(A) Glycerol

(B) Polyphosphate

(C) Sulphonated hydrocarbon

(D) All of these

MAB program stands for :
(A) Man and Biotechnology
(B) Material and Biology
(C) Man and Biology

(D) Man and Biosphere

The maximum biological damage is

produced by :
(A) X-ray

(B) Beta-ray
(C) Gama-ray

(D) Alpha-ray

SLA-104
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60.

61.

62.

A 9 STIASIE Y HEHE IGHH
& g 2
(A) frerera

(B) dicAThIeRe

(C) TTHRMIFA TEShTEA

(D) & 9t

MAB &T3iH &1 319 & .
(A) HFE Ud RNt
(B) w=1ed wa e fagm

(C) 94 Ta e o

(D) A4 TF SeHvEd

sifrram Sifeer afa fora fafereor gro <t
T2

(A) T faferm

(B) siter fafero

(C) I farferor

(D) wew fafsmor
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63. Chipko Movement started from which tree ?

64.

6S.

66.

(A) Neem
(B) Keekar
(C) Babool

(D) Khejri

Decomposers include :
(A) Bacteria

(B) Fungi

(C) Both (A) and (B)

(D) Animals

............... pyramids are always upright.

(A) Biomass
(B) Energy
(C) Numbers

(D) All of these

The Noble Gas used for treatment of

Cancer :

(A) Radon

(B) Krypton
(C) Argon

(D) Helium

SLA-104
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63.

64.

6S.

feraeht eTrer foRe 987 | I geT 2
(A) T

(B) i

(C) I

(D) &=t

qeEeh] § gitEfera ©
(A) ST

(B) ®dh

(C) S (A) ¥R (B)

(D) SR

............... % W9 T HE B T |
(A) IEHAE

(B) Fi

(C) T=R

(D) = 9t

66. HER T & ITAR H T ISP 9 T :

(A) TH
B) fw=m
(C) &
(D) @iferm
BI-4
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67.

68.

69.

70.

Which of the following diseases usually
spreads through air ?

(A) Corona

(B) Typhoid

(C) Cholera

(D) Polio

Red Data Book contains data of :
(A) All plant species

(B) Economically important species
(C) All animal species

(D) Threatened species

Which of the following problems is not
created by noise pollution ?

(A) Diarrhoea

(B) Hypertension

(C) Deafness

(D) Irritation

Which of the following is the best indicator
of SO, pollution ?

(A) Bryophytes

(B) Pteridophytes

(C) Lichen

(D) Algae

SLA-104
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67.

68.

69.

70.

= § | Fe A7 91g g Per § 2
(A) SRAT

(B) erwrES

(C) =T

(D) diferar

EEg e ok
(A) Gt IT g
(B) 3T A i Femid
(C) Tt TR gt

(D) HheT F=id

s YguO ¥ hIAEl TEET S TRl et
T2

(A) <=

(B) sfaamE

(C) st

(D) Heemmee

71 § 9 HIE T SO, TGO 1 ST S
qaE 7
(A) FTETRIEE
(B) 2ferrEes
(C) ¥
(D) ST
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71. Which one is sedimentary cycle ? 71. HIFEN SFTEE TH T 7

(A) Nitrogen cycle (A) TTEISH =%
(B) Carbon cycle (B) HEH =h
(C) Hydrological cycle (C) 1 =sh
(D) Phosphorus cycle (D) ®IERRE =
72. Both Power and Manure are provided by : 72. IR 9 @G AT ST B ¢
(A) Thermal plants (A) T 3ITHH 9
(B) Nuclear plants (B) IfHehia 3UshH &
(C) Biogas plants (C) 9mErTe 3U%A q
(D) Hydroelectric plants (D) <& foega 39k 9

73. Gas released by plants during photosynthesis 73. WIS GYOTOT i ety § st i uew

process is : TR A ® ?
(A) O, (A) O,

(B) CO, (B) CO,
© N, (C) N,

(D) €O (D) CO
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74. Which of the following does not cause

pollution ?

(A) Burning of Petrol
(B) Use of Solar Energy
(C) Burning of Rubber

(D) All of these

75. When did the national population policy

come into effect in India ?
(A) 2001
(B) 1947
(C) 1952

(D) 1967

76. Which of the following process does not

increase the amount of carbon dioxide in
air ?

(A) Breathing

(B) Burning of Petrol

(C) Photosynthesis

(D) Aecrobic decay of plants

SLA-104

(24)

74.

75.

76.

[ o

(1

~

[¥eld

T { I gfshar gRT 9gu0T el
BT 2

(A) T T& B

(B) IR 1 & YA 5T

(C) TS & 5N

(D) & 9t

IRA | TS SHEEAT Uiterd e o gorat
T2

(A) 2001

(B) 1947

(C) 1952

(D) 1967

e § @ forg whean g arg § e
TRSAFES HI T § gig T At ¥ 2
(A) TIE
(B) Wt <
(C) WeRTST HICTHI]
(D) WIEHl T AT &

BI-4



77. Father of green revolution in world is :

78.

79.

80.

(A) William Gaud
(B) Charles Elton
(C) Eugene Odum

(D) Norman Borlaug

The Corbett National Park is located at :

(A) Uttarakhand
(B) Karnataka
(C) Kerala

(D) Odisha

All Ex-situ conservation include :
(A) Zoo

(B) Botanical Garden

(C) Germplasm Bank

(D) All of these

The environmental source of energy is :
(A) DNA

(B) RNA

(C) ATP

(D) Sunlight

SLA-104
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77. foava # &fta wif & S © :

A) fafesm me
(B) =ed UeeA

(C) I sireq
(D) AT SRaAT

78. TSI oS e TRd ®

(A) TWEvE §
(B) wHtesk H
(C) & |
(D) sSran

79. G} SRl T TL&0 | Hifed §

(A) fafgamr

(B) amEafas 3T
(C) SHwISH S
(D) & |t

80. uRfEuferta el & ©

(A) DNA
(B) RNA
(C) ATP
(D) ¥ 1 T

BI-4 P.T.O.



81. Which of the following is not a renewable 81. =1 # § SE T THHd & TE1 ¢ ?
resource ? (A) @
(A) Water
(B) =M
(B) Biomass
_ (C) @fst
(C) Minerals
(D) Fisheries D) Hee! e
82. Minamata Disease caused by : 82. T AT foheeh g1 gaT o ?
(A) Lead (A) dr
(B) Mercury (B) 9
(C) Cadmium (C) Hefaam
(D) All of these (D) & 9t
83. Floods can be prevented by : 83. TG i kT T hll © :
(A) Afforestation (A) TR 9
(B) Cutting of the forest (B) TGl it e 9
(C) Tilling the land (C) STHH Ht TRE g/
(D) Removing the top soil (D) &I ! HU FAT hl BRI

SLA-104 (26) BI-4



84. Which of the following series is true about 84. T UifEafaent a1 § So1l gamg & foru f=

energy flow in an ecosystem ? 59w 5 e d

(A) Producers — Decomposers —

Consumers

(A) SCURH —> TTHSH —> ST
(B) Decomposers — Consumers —»

Producers (B) STTEH — UMK —> IURH

(C) Producers — Consumers —
Decomposers (C) STEH — UK — SFI=H

(D) Consumers —  Producers —

(D) JUHERT — IURH —> STTEH

Decomposers
85. PAN stands for : 85. MUAT F AT :
(A) Prime Added Nature (A) UEH TSE =R
(B) Peroxyacetyl Nitrate (B) Weifafeet Agge
(C) Principle of Advance Nation ©) fifque s W GRS
(D) Presume Additional Noise (D) W IUENEIEIES]

86. When is World Environment Day 86. foreer waferon feor et weTen ST € 2

celebrated ? (A) 6 SR
A) 6 Octob
) cronet (B) 16 faamsr
(B) 16 September

(©) 53
(C) 5June
(D) 21 March (D) 21
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87.

88.

89.

90.

Which one of the following is not
biodegradable ?

(A) Vegetables

(B) Fruits

(C) Earthworm

(D) Aluminium foil

Soil erosion can be prevented by :
(A) Overgrazing

(B) Removal of vegetation

(C) Deforestation

(D) Afforestation

Prairie grassland is found in :
(A) North America

(B) South America

(C) India

(D) All of these

The Gir National Park and Wildlife
Sanctuary is located at :

(A) Madhya Pradesh

(B) Gujarat

(C) Rajasthan

(D) Orissa

SLA-104
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87.

88.

89.

90.

e & § A 59 Afaeea § 2
(A) TSt

(B) wa

(C) Fgem

oo AN

(D) TIMHMIH S

TET &R R Tkl ST Tehell &, R :
(A) TAfYF =8

(B) TEafrEl T Hih

(C) =i =t et

(D) T: JERITT

YR} =T T B T S ¥ 2
(A) STl i |

(B) Sfaoft smfent #

(C) YRAH

(D) & |9t

R T 32 ua a=Isite SR Sufkerd
g

(A) 75 Yew §

(B) TSR H

(C) TS |

(D) e &

BI-4



91.

92.

93.

Which of the following regions has maximum
diversity ?

(A) Mangroves

(B) Temperature rain forest

(C) Taiga

(D) Coral Reefs

Which of the following is not a fossil fuel ?
(A) Natural gas

(B) Petrol

(C) Coal

(D) Uranium

16th September is observed as :
(A) World Forest Day

(B) World Wildlife Day

(C) World Ozone Day

(D) AIDS Day

SLA-104
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91.

92.

93.

= | & form & 7 stfaeran fafasan o
ST F 2

(A) Hoa

(B) aTd™ et A=

(C) &m

(D) ®RA TH

fret B Qi Sy e e 2
(A) Wi

(B) T

(C) =

(D) L=

16 ToawR &1 F= =1 ST ¢

(A) Taga a7 fgem

(B) fowa a=siia feaw

o

FELS

(C) fava &S
(D) TeH feaw

BI-4 P.T.O.



94. Full form of LPG :
(A) Lipid Petrol Gas
(B) Liquid Palm Goat
(C) Liquefied Petroleum Gas

(D) None of these

95. Acid rain is caused by :
(A) Hydrocarbon
B) CO,
(C) CO

(D) NO, and SO,

96. The term ecosystem was first used by :
(A) Tansley
(B) Odum
(C) Hackel

(D) Weaver

97. Which is nitrogen fixing bacteria ?

(A) Xanthomonas
(B) Lactobacillus
(C) Vibrio

(D) Rhizobium

SLA-104
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94.

9s.

96.

97.

TS A R

(A) fafre 3@ =

(B) fafere am

(C) femeioise Eifee i
(D) T 9 &5 Tal

STATT o BT BRI T
(A) TEEHE

(B) CO,

(C) CO

(D) NO, &R SO,

qRfEIfaerast T8 &1 Fae™ arT fored
o 2

(A) T A

(B) 3red A

(C) Bha 7

(D) @teR A

fire & 9 FE TR e Stamy
%2
N R RIE
(B) cieRrade™
(C) farforam
(D) rgsitsr==
BI-4



98. Which of the soils is the best for plant
growth ?
(A) Sandy soil
(B) Clay
(C) Gravel

(D) Loamy soil
99, Abiotic environment does not include :
(A) Air
(B) Water
(C) Plants

(D) Soil

100. Human Environment Conference, 1972 was

held at :

(A) Paris

(B) Geneva
(C) Stockholm
(D) Austria

SLA-104
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98. URY I gfg & foIT wE go1 Fas ¥ ?
(A) weriet fagt
(B) et gt
(C) =l T

(D) T T

99. TSI AR ek § wfinfad & & :
(A) =19
(B) S
(C) d=

(D) 71

100. 9HETT THTEX0T G, 1972 el At
feman T e 2
(A) 9R=
(B) SiHat
(C) wrwg™
(D) ffegan

BI-4 P.T.O.
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